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2 f,,  - c f,,  5 a, ; i E  N,

J J

c fi - c fJ,  =  0 ; i E  N+

J J

c fJ,  - x f?,  2 b, ; i E  Np

J J

(2.1)

(2.2)

(2.3)

(2.4)

l~tJ~#Ddln’A

2 f,J  - c fJ,  = 1

J J

(2.5)

OR 41424



C f,,  - C f,,  =  0 ; i f 8 ; i # t (2.6)
J J

c ftJ  - c fr = -1 (2.7)
J J

66B~ rJ 2 0 ; v(i,j)  E A (2.8)

OR 414 2 5



f12 + L + fi4 5 al
fi5 + fZ6 + fi, - f,,  =  0

f35  + f3.5  + z, - $3 = 0

fd5 + fq6  + f4, - fi4 =  0

fS8  - fz5 - fg5  - fd5 = 0

fbS - fza  - fg6  - fg6 = 0

f7*  - f27  - f37  - 4, = 0

fy8  + fm + f,8 2 b,

6KlZ 0 I f,J  I lliJ ; v(i,j)  E A
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f fi3 44 45 f2.s  47  45 f36 5, 45 46  47 48 f68 4817.
11110 0 0 0 0 0 0 0 0 0 00

2-10 0 1110 0 0 0 0 0 0 00

4 0 - l  0 0 0 0  1 1 1 0 0 0 0 0 0

z = I 0 o-1 0 0 0 0 0 0 1110 00

3 0 0 0 -1 0 0 -1 0 0 -1 0 0 1 0 0

5 0 0 0 0 -1 0 0 -1 0 0 -1 0 0 1 0

70 0 0 0 0 -1 0 0 -1 0 0 -1.0  0 1

60 0 0 0 0 0 0 0 0 0 0 O-1 -1 -1

I =

10 0 0 0 0 0 0 0 0 0 0 0 0 0

0 10 0 0 0 0 0 0 0 0 0 0 0 0

0 0 1 0 0 0 0 0 0 0 0 0 0 0 0

0 0 0 10 0 0 0 0 0 0 0 0 0 0

0 0 0 0 1 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 10 0 0 0 0 0 0 0 0

0 0 0 0 0 0 10 0 0 0 0 0 0 0

0 0 0 0 0 0 0 10 0 0 0 0 0 0

0 0 0 0 0 0 0 0 1 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 10 0 0 0 0

0 0 0 0 0 0 0 0 0 0 10 0 0 0

0 0 0 0 0 0 0 0 0 0 0 1 0 0 0

0 0 0 0 0 0 0 0 0 0 0 0 10 0

0 0 0 0 0 0 0 0 0 0 0 0 0 10

0 0 10 0 0 0 0 0 0 0 0 0 0 1



n141fhqFI z  = c c  c,,f,,
fi J

hJ?Jl%BlfY~

c f,,  - c f,‘  = 1
J J

c fiJ  - c fJ,  =  0
J J

Cf,-Cf,  =-1
J J

; i=s;i#t



0

0
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Iill  = lil  + Cl2

unt liJ = lil + CB1
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KJ s 1 2 3 4 5 6 t

11

1 2

13

1 4





cl,  = P,  + C m, - s,
k=,

dltJ~l~~6flU q 66X 6, = 1450,8,  =2750,&  =3850 66tlr  6, =4750,6,  = 6,=6, = 6,

= 00 66iXMj  = 1 IifO9Wl~  6, I~PdQlla~~$c;lsl?~ld~~~~~~~  7~6n"on'l~~~lt~U~l~~l~~

cl
1450 66iiZ$#j  = 2 sJ"w  3,4,5 66tl:  6 ~6h6hJrhh  2 dlU~gld7U~~in5l~~HU'6~W

6, = min.&  , 6, + cz3]  = mia.[2750,  1450+1700]  = 2750

6, = min.[S,  ,6, + cz4]  = min.[3850,  1450+3200]  = 3850

6, = min.[S, (8, + cz5]  = min.[4750,  1450+4450]  = 4750

6, = min.[s,  , 6, + cZJ  = min.[o0, 1450+5450]  = 6900

oln~lU~~$nr??~~NU~tl~U"~~  3 %lGifil6%.lQjltKllXi  ~66iTZIXj  = 3 ¶h 4, 5,

6 666T:  7 ii6dUt&JUfh¶h  3 fhUdhJlhdl4i6ih.6

8, = min.[s4  , 6, + c+J  = min.[3850,  2750+1850]  = 3850

8, = min.&,  6, + css]  = min.[4750,  2750+3425]  = 4750

OR 414 35.



6, =min.[s,, 6, + b,J =mh[6900, 2750+4750]= 6900

6,=min.[&,6,  + cg,]  =min.[00,2750+5800] = 8550

oln917a~aaftsla~~Hu~~~~n~~  4 $l%%hJ~lUflla~ 3850 ItnE%fij  =4 lh 5.6,
I

7 Ml: 8 iil#Ul%DU;U~W  4 FhUadltl~a?l~la%Hojlihl

6, =min.[~, , s4 + CJ = min.[4750, 3850+1950]=4750

6, = min.[s,, Se + c.,J  = min.[6900, 3850+3650]  = 6900

S,= min.[s,,S, + cd,]  =min.[8550,3850+5050]  = 8550

S, =min.[s,, S, + cqJ = min.[aO, 3850+6150] = 10,000

oln~lu&fi5la~~WoJW~~~n~W  5 ~~~~ldIdhJflla~  1 Htlt%#j  =5 ¶h 6,7,

8 Lltlt  9 ih%h.lfi¶JsJ"pu  4 d7UaUlhJ~a~~lah~dU

6, = min.[s,,  6, + cJJ = min.[6900,4750+2075]  = 6825

S,= min.[s,,  S,  + c,,]=min.[8550,4750+3875]  = 8550

S,= min.&,  S, + c5J = min.[10000,4750+6500]  = 10,000

6, = min.[s,,  6, + c,,]  =min.[oO,4750+6500] = 11,250

al"d~er~anrla~~wPl~~a40nliPY  6 $&kilAkhJflla~ 6825 MX~~j = 6 lh 7,s
c l

llRE 9 .ih=%hJfiU<W 6 hAafw~l~k~~l~'%~il~U

S,= mti.[S,,S, + cd = min.[8550,6825+2200]  = 8550

S,= miu.[s,,  6, + c6J = min.[lO~O,  6825+4100]  = 10,000

8, =min.[s, ,S, + cdJ = min.[11250,6825+5650]= 11,250
ol"Qflu~a'ansla~~no~~~~n~~  7 '%l?%l6dU&tJfll?~  8550 MZI#j =7 lb! 8I

bltc  9 h%.hJ~lJ~w  7 hdad1u~afls1a%wahthJ

S, = min.[s,,S, + c,J =min.[lOOOO,8550+2325]  = 10,000

6, =min.[s,, S,+ c,J =min.[11250,  8550+4325]= 11,250

olfdlaknslauo~y"w  8 uflt 9 a&w&i 8 $lG~la~~41lerfllas  p@q Mlz1X

j -8 ¶hi 9 h!bhJ~%J¶%'i 8 $ilUX&J&J'an~l'J$~lh%.~

6, = mix&, , 6, + c.+J  = mm.[11250,  [10000+2450]  = 11,250

oitdia~a~5iauosbw  9 6n"otx.h  9t~~fil66uQflaolas~11,250  unzj  =9 do

&fh¶h~Fl?hJ  ~i~AA~~~~l¶dlM?Ql~~iJB11SlJ  2.2

~U~ITI~ 2.2 tuul i ~09911515 AIWUR~&~  1 Ghhh~~uBiu  9thlasdu [a
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ml579  2.2 ~,~mjpsp"n$i,uaruin~~~5"LluOi

1 2 3 4 5 6 7 8 9

1 fTJ 1450 2750 3850 4750 CQ GO 00 00

2 q El 2750 3850 4750 00 00 00 c.0

3Qrn 2750 3850 4750 6900 00 00 00

4 q m a 3850 4750 6900 aD 00 cx,

5 m 11450 b1 3850 4750 6900 8550 00 00

6 q 1~1 127501  138501  4750 6900 8550VJ 00

7 q p) II 138501  4750 6900 8550 10,000 a

8 q [El 127501  13850 Ei 6900 8550 10,000 00

9 a 114501  127501  13850 14750 6825 8550 10,000 11,250

lo mElnonn2750 3850 4750 6825 8550 10,000 11,250

l1 lolm)/IInII2750 3850 4750 6825 8550 10,000 11,250

12 q 114501  127501  m 14750 16825)  m 10,000 11,250

13 q (14501  (27501  (38501  147501  (68251  (sssa( 10,000 11,250

14 D 114501  127501  m1,El 168251  m mlo,oool 11,250

15 a 11450 127501  13850 14750 @?-I @j mlo,aool 11,250

16 q (~1~((38501~1~l~~(10,0001111,25(





06

S = (5, 6, 3)

s’  = { 1,2,4,7] fill&ilU  = 4

u. t&x-h 4 &h 4 f%~ 3

S = {5,6,3,4{

: = {1,2,7]

fi. t&mh 2 doulc~~ 2 tiu 3

S = {5,6,3,4,2]

z = {1,7)

4. 6&miiw  i huh 1 fh2

S = {5,6,3,4,2,1)

5 = (7)

0. tn"onlj', 7 donrlw 7 I-XI 5

S={5,634217)  I , , 9  I

S=C$
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43



s= {1458910)  , 3 , 9 ,

filMi  = 1,100,000 Ylpl

n. k%n¶h  5 6&h  5 fh 6

S = {3,7,2,6,5)

: = { 1,4,8,9,10]

Fi1%l%1u  = 1,500,000  Ylpl

4. 6n”Qnu”w  10 doih  10 f%I 6

S = (3,7,2,6,5,10)

-s’=  { 1,4,8,9]

dl'%&hJ  = 1,900,000 IJIPI

0. &nGw  4 &JFW 451~ 5

S = [3,7,2,6,5,10,4)

s= {l&9}

~l%#tilU = 2,500,OOO IJIPI

W. aihh 8 S&lUh 8 &I  3

S = {3,7,2,6,5,10,4,8)

s = [1,9}

fi1%4dlU = 3,100,000 ¶ml

‘11. 6a”QnIh  9 ~&¶J%w  9 n”y  8

S = {3,7,2,6,5,10,4,8,91

s= 11)

fi1vld1u = 3,400,000  Ylpl

T. hnih 1 hhh~ 1 fh 2

S = {3,7,2,6,5,10,4,,9,1]

:=+

Fil7&ilU -11,100,000  YIYI

~qmi~Aluasu& s %hwhkiuliwuasu'7u47u  mz s ihwlwlil9

~wl~~luuwo~u'loln'l~l~~~~~~l~~lu~~~~~~~  2.6(U) FWWUB~dl~~~lU~D

4,100,000 Ylol
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4 6 4 6

11

(?I
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cdimi~bo  s - 1 - 3 - 2 - t xutmd  = 32)

4 6

&imian”o  1 - 4 - 5 533m  = 7)

OR 414



(&ll&J  1 - 3 - 5 - 6 5XMll~  = 8)

m 1 8

2

(6dhl&1 1 - 3 - 4  -6 dl%hJ =42)

w 18

1 9

(r#um~o 1 - 2 - 4 - 6 Al%&h.l = 19)

OR 414 47



(~&I& 1 - 2 - 4 - 6 n’l%%hJ  = 15)

(6dWll&I l-2-4-7 'iXl:VllQ  = 15)

(diJnl~n"o  l-3-4-7 5xJtvll~  = 14)
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(dhl& 1..24-5-7  X~1tm14 = 12)

(dim& l-24-5-9-10 mm4 = 12)

OR 414 4 9



ftxml~ = 10

50

5z=WvllJ = 31

OR 414



mu

2 5

3 2w1 4 6

2 6

3 7

s3Jt3l1~  = 20

1 2

1 0

1 0B3

7 4

5 4

6

mu

dl%&lFi  = 23 6

OR 414



1 9

fill&ltl=  59
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